ASIS.Premium.PSP.60q - DEMO

Number: PSP
Passing Score: 800
Time Limit: 120
File Version: 1.0

Exam Code: PSP

Exam Name: Physical Security Professional

Website: www.VCEplus.io

Twitter: www.twitter.com/VCE Plus

IT Certification Exams - Questions & Answers | VCEplus.io


http://www.VCEplus.io
http://www.twitter.com/VCE_Plus
https://vceplus.io
https://vceup.com
https://vceplus.io/
https://vceplus.io

Exam A

QUESTION 1
Who generally provide an advisory or service function to a line executive?

Chief financial officer
Merchandiser

Staff personnel

o0 ®p»

Retail marketer

Correct Answer: C
Section:

QUESTION 2
When chief executive officers have authority delegated by the senior executive to whom they report and they are granted a part of authority of their line superior, this is known as:

Financial authority
Control authority
Staff authority
Dominance authority

o0 ® >

Correct Answer: A
Section:

QUESTION 3
In its organizational functions, security encompasses which basic activities with varying degrees of emphasis?

managerial, detective, preventive, investigative
supervising, administrative, preventive, training

managerial, training, preventive, detective

o0 ®p

managerial, administrative, preventive, investigative

Correct Answer: D
Section:

QUESTION 4
From a management point of view, organizing the security effort involves:

Planning & goal setting
Establishing controls
Hiring personnel

All of the above

o n >
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Correct Answer: D
Section:

QUESTION 5
The degree to which a manager or supervisor is able to delegate responsibility rather than trying to do everything personally is a good measure of managerial ability.

A. True
B. False

Correct Answer: A
Section:

QUESTION 6
What refers to the number of employees over which any individual can exercise direct supervision effectively?

Corporate period
Delegate control
Span of control

o n >

None of the above

Correct Answer: C
Section:

QUESTION 7
The number of security personnel required is generally inversely proportional to the size of the facility, expressed both in terms of square footage or acreage and the number of employees involved.

A. True
B. False

Correct Answer: B
Section:

QUESTION 8
The bus transportation system, represented by the American Bus Association has established an American Action Plan designed to improve safety and safety for bus operations. The goals of this plan are all of the
following EXCEPT:

To promote security vigilance among operators through training and partnership with law enforcement agencies
To assist companies in developing infrastructures
To preserve the bus industry as a strategic transportation reserve

o0 ®p

To protect the transportation infrastructure

Correct Answer: B
Section:

QUESTION 9
What is the result of a jurisdiction either using common law, which was adopted from English traditions, or passing specific legislation called statutory law?
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Criminal law
Offended suit
Case law

o0 ® >

Constitution law

Correct Answer: A
Section:

QUESTION 10
Which law concerns the rights, duties, and penalties of individuals in their relationship with each other?

Procedural law
Statutes suit
Substantive law

o0 ®p

Constructive law

Correct Answer: C
Section:

QUESTION 11
A voluntary and intentional violation by a legally competent parson of a legal duty that commands or prohibits an act for the protection of society is known as:

Corruption
Law-breaking
Fault

Crime

o0 ®wp

Correct Answer: D
Section:

QUESTION 12
An offense punishable by death or by imprisonment for a term exceeding one year is called:

Corruption
Felony
Misguidance

o0 ® >

Misdemeanor

Correct Answer: B
Section:

QUESTION 13
A concept that has grown largely in response to the difficulties faced by merchants in protecting their property from shoplifters and the problems and dangers they face when they make an asset, is called:
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Release
Confinement
Detention

o 0N >

None of the above

Correct Answer: C
Section:

QUESTION 14
Detention differs from arrest in that it permits a merchant to detain a suspected shoplifter briefly without turning the suspect over to the police.

A. True
B. False

Correct Answer: A
Section:

QUESTION 15
requires that the arrestee be turned over to the authorities as soon as practicable and in any event without unreasonable delay.

Arrest
Detain
Detention

o0 ®p

Threatening loss

Correct Answer: A
Section:

QUESTION 16
An examination of persons and/or their property for the purpose of discovering evidence of guilt in relation to some specific offense is known as:

Examine
Test
Research

o n >

Search

Correct Answer: D
Section:

QUESTION 17
The amount of force may be equal to, but not greater than, the force is being used against them, this phenomenon is called:

A. Security
B. Protection
C. Self-defense
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D. Precautions

Correct Answer: C
Section:

QUESTION 18
A civil action based on the principle that one individual can expect certain behavior from another individual is known as:

Transitivity
Tort

Reassembly

o n >

Procurement

Correct Answer: B
Section:

QUESTION 19
What applies to a provider of defective or hazardous products or services that unduly threaten a consumer's personal safety?

Strict liability
Plaintiff
Defendant

None of the above

o0 ® >

Correct Answer: A
Section:

QUESTION 20
Which liability is of concern to enterprises that contract or employs security services and is an indirect legal responsibility?

Strict
Negligence
Vicarious

o0 ®p

Loose

Correct Answer: C
Section:

QUESTION 21
The concept that accepts the fact that the plaintiff may have contributed to his or her own injury, such as being in a restricted area or creating a disturbance or some hazard is known as:

Control tactics
Comparative fault
Defensive control

oSN >

None of the above
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Correct Answer: B
Section:

QUESTION 22
Which of the following is the type of comparative negligence statute?

Pure approach
50/50 rule

51 percent rule
All of the above

o0 ®p

Correct Answer: D
Section:

QUESTION 23
In which approach of comparative negligence, the plaintiff may collect something for injuries even if he or she was primarily responsible for the injuries?

Pure approach
50/50 rule
51 percent rule

OO0 ®w>

None of the above

Correct Answer: A
Section:

QUESTION 24
Under 50/50 rule of comparative negligence, the plaintiff can collect for damages if he or she was responsible for more or less than 50 percentage of the negligence.

A. True
B. False

Correct Answer: B
Section:

QUESTION 25
Which of the following is Correct?

. in 51 percent rule of comparative negligence, the plaintiff's acts must have contributed less than 50 percent of the situation in order to collect damages.

A

B. in 51 percent rule of comparative negligence, the plaintiff's acts must not have contributed less than 49 percent of the situation in order to collect damages.
C. in 51 percent rule of comparative negligence, the plaintiff's acts must not have contributed less than 48 percent of the situation in order to collect damages.
D

. in 51 percent rule of comparative negligence, the plaintiff's acts must not have contributed less than 51 percent of the situation in order to collect damages.

Correct Answer: C
Section:

QUESTION 26
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What occurs when the person who committed the act was able to foresee that the action would result in certain damages?

Active resister
Lack of control
International tort

o0 ® >

None of the above

Correct Answer: C
Section:

QUESTION 27
is internationally causing fear of imminent harmful or offensive touching but without touching or physical contact.

Assault
Stabbing
Battering

o0 ®p

None of the above

Correct Answer: A
Section:

QUESTION 28
What implies that the confinement is for personal advantage rather than to bring the plaintiff to court?

Battery
Confinement
False imprisonment

o n >

None of the above

Correct Answer: C
Section:

QUESTION 29
What involves walking or riding a given route to observe the condition of the facility?

Patrol duty
Posts
Reserves

o0 ®p

None of the above

Correct Answer: A
Section:

QUESTION 30
Reserves are the people standing by in the event that assistance is needed by security personnel on fixed posts or patrol; duty.
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A. True
B. False

Correct Answer: A
Section:

QUESTION 31
Who must regularly study and analyze the channels of communication to be certain that the input they receive is accurate, relevant, timely, concise and informative?

Chief Information Officer

Information Security Information Officer
Chief Minister

Chief Security Officer

o0 ®p

Correct Answer: D
Section:

QUESTION 32
Which of the following is the most widely accepted classification of skills for the leadership?

Skill Mix
Conceptual
Human relations
All of the above

o n >

Correct Answer: D
Section:

QUESTION 33
The recommendations of the Task Force on private security include which one of the following?

a minimum of eight hours of formal pre-assignment training

basic training of a maximum of 32 hours within 2 months of assignment, of which minimum of 16 hours can be supervised on-the-job training.
BothA&B

Neither A nor B

o0 ® >

Correct Answer: A
Section:

QUESTION 34
Libel is oral defamation; libel is defamation through the written word.

A. True
B. False
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Correct Answer: B
Section:

QUESTION 35
Which of the following is NOT the distinct action that fall into invasion of privacy?

. misappropriation of the plaintiff's name or picture for commercial advantage

A
B. placing the plaintiff in the false light
C. private disclosure of public facts

D

. intrusion into the seclusion of another

Correct Answer: C
Section:

QUESTION 36
What is the authorized physical invasion of property or remaining on property after permission has been rescinded?

Prosecution
Trespass

Verdict

None of the above

OO0 ®w>

Correct Answer: B
Section:

QUESTION 37
Taking personal property in such a way that the plaintiff's use or right of possession of chattel is restricted is called:

Restriction
Transfer
Constraint

o0 ® >

Conversion

Correct Answer: D
Section:

QUESTION 38
The individual who commits a tort is called a tort-feasor, where as the injured party is called the plaintiff.

A. True
B. False

Correct Answer: A
Section:

QUESTION 39
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Under the principle of agency law, such an assignment transfers the liability for the service from the corporation to the independent contractor with obligations that some cannot be entirely transferred, is called:

Non-delegable duty
Delegable duty
Non-Crime duty

o0 ® >

None of the above

Correct Answer: A
Section:

QUESTION 40
Based on non-delegable duty, contractual provisions that shift liability to the subcontractors have not been recognized by the courts and are called:

Unrecognized holds
Hold-on liabilities
Hold harmless clauses

o0 ®p

None of the above

Correct Answer: C
Section:

QUESTION 41
The concept of arises from agency law in which one party has the power to control the actions of another party involved in the contract or relationship.

A. Compliance liability
B. Vicarious liability
C. Active liability

D. Passive liability

Correct Answer: B
Section:

QUESTION 42
A solicitation by police officers is another charge that may be leveled against security officers is called:

A. Criminal liability
B. Wrongful death
C. Verdict Act
D. Entrapment

Correct Answer: D
Section:

QUESTION 43
What focus on legal principles and theories along with cases in which such principles predominate?
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Encyclopedias
Legal document
Formal memorandum

o0 ® >

None of the above

Correct Answer: A
Section:

QUESTION 44
A legal research generally involves locating:

the applicable statute

the applicable case law

related articles in professional journals
All of the above

o0 ®p

Correct Answer: D
Section:

QUESTION 45
Contingency planning is the result of which four major components?

emergency response, crisis management, pressure devices, risk analysis
emergency response, crisis management, business recovery, business resumption
basic planning, crisis management, business recovery, business resumption

o0 ®wp

under investigation, crisis management, business recovery, pressure devices

Correct Answer: B
Section:

QUESTION 46
The long-term (more than 60 days) process of restoration activities after an emergency or disaster that returns the organization to its pre-event condition is called:

Business continuity
Business recovery
Business resumption

o0 ® >

Business healing

Correct Answer: C
Section:

QUESTION 47
The computers those are capable of great processing speed and data storage, allowing multiple users to utilize the system simultaneously is called:
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Workstations
Main computers
Supercomputers

o 0N >

Mainframes

Correct Answer: D
Section:

QUESTION 48
Who developed Ethernet?

Xeror Corporation
IBM
Microsoft

o0 ® >

None of the above

Correct Answer: A
Section:

QUESTION 49
When using , computers must ensure that there is no traffic on the network before they are allowed to transmit information.

File Transfer protocol
Buses
Ethernet protocol

o0 ®p

None of the above

Correct Answer: C
Section:

QUESTION 50
WANSs also allow multiple computers to share the same communication line, as is possible with LANs.

A. True
B. False

Correct Answer: B
Section:

QUESTION 51
WANSs used which protocol developed by the Consultative Committee for International Telephone and Telegraph.

A. X.25
B. XA.10
C. CXA1.23
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D. X.20

Correct Answer: A
Section:

QUESTION 52
LANs and WANs can communicate with each other using a communications rule called:

Ethernet Protocol packet
Protocol Assembly packet
XOP.210 Protocol packet
Internet Protocol packet

o n >

Correct Answer: D
Section:

QUESTION 53
IP sends information across networks in packets, each containing between 1 and approximately:

1,000 characters
12, 00 characters
15, 00 characters
18, 00 characters

o0 ® >

Correct Answer: C
Section:

QUESTION 54
Which protocol divides the information into packets, sequentially numbers each packet, and inserts some error control information?

Transmission Control protocol
File Transfer protocol
Information Control protocol

o0 ®p

None of the above

Correct Answer: A
Section:

QUESTION 55
A study of BDP international has found that of shippers are factoring in additional time to comply with the Advanced Manifest System, which went into effect in February 2003. This Department of
Homeland security rule requires the filing of complete import manifest documentation at least 24 hours before U.S.-bound ships are loaded at foreign ports.

A. 30 percent
B. 25 perc
C. 35 percent
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D. 40 percent

Correct Answer: A
Section:

QUESTION 56

To deal with the lack of security, both government organizations have developed guidelines for protecting electric facilities and distribution systems. On the private side, the Edison Electric Institute developed
guidelines that have been passed on to the North American Electric Reliability Council (NERC), the U.S. Department of Energy's coordinator for the U.S. electrical infrastructure. Among other things the guide lines
cover:

Vulnerability/risk analysis
Threat response
Cyber scenario

o0 >

Emergency detection

Correct Answer: A, B
Section:

QUESTION 57
What allows people to log on to a remote computer and use the resources of that system if they have a valid account?

Cabinet
Telnet
Telecom

o0 ® >

None of the above

Correct Answer: B
Section:

QUESTION 58
A system of discussion groups in which individual articles are distributed throughout the world is called:

Usenet

Telnet
Widespread net
Web net

OO0 >

Correct Answer: A
Section:

QUESTION 59
A series of menus from which a person can access virtually any type of textual information is known as:

A. Consortium
B. Hyper-text based tool
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C. Symantec
D. Gophers

Correct Answer: D
Section:

QUESTION 60
Trimming off small amounts of money from many sources and diverting these slices into one's own or an accomplice's account is known as:

Manipulation technique
Auction planning
Salami Technique

OO0 wp

Hostile applets

Correct Answer: C
Section:
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